20244F FETR X S AcE e EBTEGRTFHE (B—KE) [24142002])
Bkt = VRAREEE Lt [142020]

2024/07/13 ~ 2024/07/14

T w7 g E SR FE/MA T

25— NEFEHE LT R
Bt B OE B OE A
BCxFHE 4 BEX
o OE O WE BE
H A A 17 oA 37 A7 5{7 6fi7 0 8{r
JRisp| T 100mBiR WA —Hi(2) 11.24|7N EEQ) 11.26/MA A HEF3) 11.26|8 10 fEXREAR) 11.42|m W B KE3) 11.45[Mm 2 REAR) 114758 £ AQ2) 11.49
JT:-2.6 BRI & FRehE Y s EPNE isl i S RS W R
IR TEFH(3) 10.63|18  [E=H(3) 10.73 [ H 5E#(3) 10,77\ % AR ER(1) 10.87|AF 1L #7ER(2) 11.01 o4 1HQ) 11.03|EHE TTi3) 11.10
Tpisp| BT 100mADS ) T GR|fE L7 A R A e Rt H K& ARG R A S0 &
Jal:-1.0 A I&KE5(3) 11.01
TH1ap| BB T200mBYES I Q) 2214 8 HEREIQ) 22.09[1TIN B E(Q©) 22.99|H 5 Ik—(Q) 23.00(f 1L ==A4(3) 23.24[ W F5E(©2) 23.36|EHE  H5©2) 23.98
Ja:+0.2 W R B e sl aE RRkE T i JIEREE BE BB N TR JIFnE HrFlE
TRap|  FEEBT200mAR 1 BE2FE3) ARGV Sy NE)) 21.69|HEAR  KF5(3) 22.22| M50 fi(2) 22.31|[MA —Fi(2) 22 49|FA ERAEN) 29.60
Ja:+1.1 Rt raE GR[H K& i B 2 ] S BRI & Rt raE
TA1sE | R Fa0omBIE JIE KFa(1) 50.43[FA BIRAQ) 50.72(FAH #xER(3) 51.67| Tk #EAKEAQ) 51.69[ N7k A (3) 52.12|7R15 KH#H(2) 52.55[HRIL il & (1) 58.08
il B ] P 4 Rt BnE HEHE RS )11 R & sl ZnE
TR1sA|  EkeE Fa0omang g T=02) 4785 % K FEFI(2) 49.17KR FIK©) 49.37|ZH  H#5L(2) 50.30(fc i R (2) 50.56(E  FHA(2) 50.75|FE T A(Q2) 51.09
#ab s RETAE RS A BRI & RS RIRVAR RN BRI &
H14H T— I FERE2) 1:56.23|H& i HE(2) 1:57.55 887 (1) 1:58.28/N& =F(2) 1:58.56| K% JH#(2) 1:58.65|H 5 MEHL(3) 1:58.81|#1#8 AR=H(3) 1:59.54|85AK F=}(2) 1:59.66
) R 5 el 272 B sl nE #ibE e AN PRI & A gt sl nE
TA13H KB 1500m I () 4:06.16|F11&  AR=F(3) 4:07.81|85AK V() 4:08.76| A% J#(2) 4:08.79[ & B fir ABR(2) 4:09.24|5F A FIZE(2) 4:10.12(ZH HEAN(2) 4:13.24| 8 H  FH(Q) 4:13.47
R w0E FRLE ST 5 isl T Rt aE LR W 7 RE sk s
. — NI R (2) 15:54.21 [ H  #(2) 15:54.68F A FI(3) 16:09.32#i)F KAH©2) 16:15.19|8# M F(1) 16:15.93|= A #KHR(2) 16:20.30(b H #EE(2) 16:24.63 &7 KHEQ) 16:31.12
- _ o) RIS & FRETE RS PR 2 5 wibE IO el & 72 ] JIENER
T < T V0 15.22| kP9 ACRR(2) 15.80|HIH #bA(2) 16.02| 46 Fn A (1) 16.30( 7512 H(2) 16.47 |71 48 }(2) 16.79| 415 ELEL(2) 16.81|#5K HEAR(Q) 16.82
Jal.:-0.4 &I EENE] R A5 HEHE R 5 HAHE 7 R R &
A 14H EET IR FIFEI3) 55.10|# % A fEFH(2) 55.16|HH {dF7(3) 56.93|HH #EA(2) 57.44|4bFS A (2) 58.36( )5 IEAHR(2) 58.44| L& KHE®) 58.63| kT () 1:01.82
400mH(0.914m/35.00m) | &> 5 Rt aE EPNE RS A5 R E S S IR HAHE
ta1s8 | FoE £3000mSC0.914m) (LIF BERE(2) 9:47.41|FEH F(2) 9:50.57|Z5HE AR 9:52.89 R KHE2) 10:08.61| B )1 B4(3) 10:18.75[F A wI(3) 10:21.98(H &4 (3) 10:24. 77| HF A AR (2) 10:26.66
) ' IIRAR RN BRI & wibE IR Iz T R A5 TN AR & FRIEOK R &
. I R 20 21:33.56|fAAK AIK(3) 24:46.28 |1 (1) 28:05.45[WEH & & (1) 30:21.59 )11 A1) 30:33.73[H8 7 KHE(1) 30:33.78|1& % HER(2) 36:12.83
e A o R BRI RETRE o R BRI o R BRI Rt H K&
A= 43.04|FE£H & 43. 14 H KB I 43.25|& 5 43.53 | B B 5 43617 r E 43. 79| & IRMEE 44.29( 8k & 44.30
A1) RS RIT(1) By 2ER0) AR EFAQ2) /NE Q) T EANQ) IR 7R (2) NG IEIRQ)
THI3H| @SHB T4X100mRBIE  |FEA 1KF5(3) - IN ) I H(3) IR FHFEIR) i HFEEQ) FEREF B k(1) JEEE fEE(3) IR (1)
PN A(2) EEH EQO) B3 5 o) R IEKEREQ) Y BER(Q2) JIIF BT (2) TR—Y A7 =—A 1) [/NR AR
5 BAR) A KREE) P Q) R BEHEQR) TR KHEQ) B4 1) A #hEQ) (Lils FAR(2)
B = 41.60| BRI & 42.53| BRI A FAF 5 2. 71 BE 42.95 | il B2 =[] H 45 43.65| R 5 43.67| 2B 5 44.02
A CHRQ2) WH Q) INEF KA (3) FAE PRI B —F5©2) T #AKEAQ) B IEEL(3)
THI3H| @ BF4X100mRARES |28 12 Bh(1) 7 I GING)) HHE SORH3) e K FR() b 1%(2) ek RN (2) mHE EKREG)
DINE NS =[)) L @) ITHE ODMER) BA BRAEN) Wk SCER(1) i FEREAQ) WA 5#(1)
PR #2) WA —Fi2) %k B R R AR FQ) BA AR K FFEQ)
#db s 3:21.58| K se 3:22. 70 3:25.68| & 5 3:28.48| &= 3:32. 23| BRI & 3:32.60|Fh ik 5 3:37.06
g T=202) WH Q) Pere K HEFRQ) PN #%@3) R IERERQ) K% FB3HQ2) T OKIK(Q)
TH14R 5 7 F-4X400mR [Lils  5IRGH(2) - I IGING) R H©2) FHF B (3) IR FFE]3) s &AE(2) g FRHR(1)
/NIRRT fA —Hi2) BA HRAEN) WA SE(1) a5 2E(3) SRR KE(2) %R Enf(l)
N SR iV () R Ra) M EIAQ) HE EER) Jekr #A©2) HhH EERRR()
A 130 akn e |0 EBQ) Im95| &L ¥fE=(1) 1m88| LA SAi(2) Im88| Skl K—(1) Im84|/hL #L(1) ImBO|7~—¥  A7=siw Im8O|SRJ5L FK(2) Im75| 7Rk HEL(3) Im75
RS A RETHRE B & EPNE RS SIRBEE BRI & &
7H 130 T FAA @A (3) 4mA0| &g FE(L) 4mO0| HH BEFH(2) 3m90|[E 5y BEAQ) 3m60| 31l (1) 3m60 R4 5K (3) 2m40
FREIE RS RIS RS RIS RS 7 g S RIS RS
JA13H T W o) Tm27GLOER () em84(+1.D)|EE S@3) 6m62(-0.2)| Al MEEB3)  6m62(+1.8)|#5A FiE}(2) 6m48(0.0)[BIFR TEFN(2)  6m4S8(+1.5)|HfM KHEEQR)  6m40(+1.9)|L M FEAER)  6ml8(+1.4)
i & R E B S SIRBEE ARG BRI & HEE RSB 5 RS
T R T Bk REE16)) 13m87(-1.D|&A B2  13m16(-0.8)| =5 BEKEQ)  13m15(-0.5)|/Mk 7R(2) 12m97(+0.5)[ A 1 2 12m56(-0.7)|8A Q) 12m22-0.D{HJI /FFEQ)  12m21(-0.3)[#af ==8E(1)  12m12(-1.0)
) - SIRBEE R & it GIRBEE R A5 &I BB & Rt am
TH 130 | kR T 586,000k B EX(3) 15m21 A KHH(3) 14m59|/NE  4(3) 14m07|¥Y 7TX7(3) 13mO9|EF & & —ER(2) 12m67| = hE T H#H(©2) 12m46|HHks me(1) 12mO5|[A R ==Ik(1) 10m70
' FRE A5 HAHE Rt aE BRAEE Rt aE ARG BRI BE o R
T | Eren mEQ kg |PEH HEEEG) 43m92| 1L FEFHE) 42m51|PaiE  KIfES3) 40m23|/INE 2FA(3) 38m74|HAS (1) 36m01| A sERQ) 35m18|HEM  HhifE(1) 33m93| A FE2) 33m73
o FRILE A R aeE R aeE R Rt oA & Rt BRE R &
Hsa| R TOvRGE0 A —i(1) 55mb 1|k 2 {EHL(2) 53m74[AH HEH(2) 51m81| AL BELEQ2) 48m42[fE #E(2) 47Tm89 | ZEEE(3) 4Tm22| ¥ FITE(2) 43m80[FY T X7(3) 42m93
B FE mrEE ) & AR AN L PN 5 sl A BB E S

¥ BT100m Tk AR EPICHSI TS 10. 62(-0. 6) GR

JLB GR:R&x7e8%




